-

CName:

GCSE 9-1

Practice Paper
SetA

Paper 3 - Calculator
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Equipment

1. Ablack ink ball-point pen.
2. A pencil.

3. An eraser.

4. Aruler.

5. A pair of compasses.

6. A protractor.

7. A calculator

Guidance

1. Read each question carefully.

2. Don’t spend too long on one question.

3. Attempt every question.
4. Check your answers seem right.
5. Always show your workings

Information

1. Time: 1 hour 30 minutes

2. The maximum mark for this paper is 80.

3. You may use tracing paper.
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1. & = {odd numbers less than 32}

A = multiples of 3
B = multiples of 5

(a) Complete the Venn diagram

¢
q B 3
N I
29 12
31 7+

4
One of the numbers is selected at random.
(b) Write down P (An B)
<
2 S5 R T
(2)
2. Solve the simultaneous equations
3Xx-y=23 ©
2Xx+3y =8
Do not use trial and improvement
D3 = ‘25 i ? . sstitohing
Ax =
* lj %x-} £ ‘ﬁ - 23
Hx = - 2\ - - T 3
% = ?
Y= -
X = s :,_ .............. VS ok -9\ ...........
(3)
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3. The table shows the ages of an under-21 rugby squad.

Age Frequency
18 D 5
19 9 Jo
20 9 "
21 4

ok | >

(a) Find the median age.

medien pluyer i numlpr &1%_' = I

e lap" oldest 1s 20 20
.............. (1)
Courtney says that the mean age and median age are the same.
(b) Is Courtney correct?
You must give a reason for your answer.
Mean = 18xSHIaYS +Wwxq +UX Y
a3
T 444 on s BO
L3 Man = 19.32
= VST .
No
(3)
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4, Harley sold 380 ice creams.

He sold only vanilla, chocolate, strawberry and honeycomb ice creams.
45% of the ice creams are chocolate.

The ratio of vanilla ice creams to strawberry ice creams to honeycomb ice
creams is 1:2:8.

Work out how many more chocolate ice creams are sold than honeycomb ice
cream.

5§59, ae N Chocolaty = © .S ¥330 = ACH)

\'\cwuﬁcm«b- 'S ,%\/‘xa"c‘ = 152

hocalady = Bo -209 = 1 FH
F|-1Sek =

(4)
5. Shown below are two identical regular polygons and an equilateral triangle.
x
Regular “¢\y~ Regular
Calculate the number of sides each regular polygon has.
Qx + 60 = 360
X s 150 (inkerior gt
;. exteno angle = 30°
240 30 * .

(3)

© CORBETTMATHS 2018




A.V

Material A has a density of 5.8g/cmd.

Material B has a density of 4.1g/cm8.
3779 of Material A and 1.64kg of Material B form Material C.

Work out the density of Material C.

. 333 _gSen? B Vg 1649 - 4ooem®
A EX S & .|

© Ne: 46San Mc= 16404333 = 201Fg

V™ gas
. 4 3 L" ....... g/cm3
(4)
B
13cm
12cm “5{’
s
ct A

Calculate the size of angle BAC.
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8. Shown is a square and a circle.

Each vertex of the square is on the circumference of the circle.
The area of the circle is 81cm?2

Find the area of the shaded region.
Give your answer to 4 significant figures.

, le=-|—rr-a'=8| r:Jg:SO?}:}

S\&WH‘% tLQ SGUUQAQ= ‘("_W'L = F1%...

Shoded areu = Bl --G--l’é/)—L T RG 4IA . .
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9.  The functions f(x) and g(x) are given by the following:
f(x) =8 —3x
g(x) = 4x
(a) Calculate the value of gf(3)
£(3)=9%-3¢3= - |
o(-1) = 4x-1=-% -~

(b) Solve the equation gf (x) = 80

q(ttx) =9(8-3x)

= 4(8-3x)
T W-1AX
23 -Ax=80 = Rx : -43 e AL N1 R

10.  Charlotte invests £5000.
The bank pays 10% interest for the first year and then y% every year after that.
After three years, Charlotte has £5610.55

Calculate y.

R -
Soco x|.| XK~ 5610.SS

,;:-_- | 00|

5(=\-0\
.-Lﬁ"'o/o

e
(3)
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11.  Afood standards inspector is going to visit 3 establishments in one day.
In the town, there are 40 restaurants and 12 cafes.

He writes a list of the three different establishments, and the order will either be:

Cafe Restaurant
Restaurant Cafe
Restaurant Cafe

How many possible lists could he write?

IR x 40¥39g = |9170
or e

box @yl = S380O
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The points D, E, F and G lie in a straight line.

12.
4 =410

o
10
F=q s EF 9 .4 =3
2 qo Ao Ao 40
- "5‘ ' ”
itho = Lr/’lo = {o
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13.

\
AT,
\

&
-0

The region labelled R satisfies three inequalities.

State the three inequalities

LA has @quation \ﬁ=3:'3~
bne B by ooy~
U € by cppakis Y= = F

--------------------------------------
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14. (a) Simplify fully
Bx2 - 13x - 6

x2-9

= Bxr)a- 3) -

(1*3)(1'3)
Ax12
Xt 3
(b) Make m the subject of the formula
_m+4
Y m+5
Lj(M*5)’M+L"
MY + 5y = M+
MY - M = 43y
My -1) = 45y 4- Sy
1= ol B b
r 5g4~‘l’>
=Y
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15.

(2x - 2) cm

60°
(x + 10) cm

The area of the triangle is 90v3 cm?

Work out the value of x.
oAl \qusm €

_ '/l(bc_z)(xuo)S\'/\ 60

= @ (I_Q‘-quC"°> = 903
T
iy x‘l*qr"o 7‘[80
- X219y -190 = O
(x +19)(x -10)*O
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16. Using Tpy1 = —3 — —
Tn

with g = —3.5

(a) find the values of X1, X2 and xs

1
{
W
!
~

/

I
W
O\
W

X

(3)
(b) Explain the relationship between the values of x1 , x2 and xsand the
equation x> +3x2+2 =0
............. mmueasvﬂgqucauc@&ﬂmﬂh
ke e, e b
(sia, 13 iar o =5 585 EL S B
................................................. s e st e e
d T ) AR,
(2)
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17.  The curved surface area of a cone is given by the formula

A=z=rmrl

where A is the curved surface area
r is the radius of the base of the cone
and | is the slant height

Given A =220 cm? correct to 3 significant figures,
and r = 8 cm correct to 1 significant figure.

Calculate the upper bound for I.

: ‘M - AMM o &305 = q3§83 T
e 'T’Déruin TS
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18.

Find the values of x and y
c:)dicobmd.nhiucd :
Y 9:+32¢j HS.ﬂ e L+ ‘(%=|30

b . g5y =180
oy - 4Sy 1 = 180 2% - 45y

Ux = 36O
ERR0 wEl | -
(4)

19. Solve the inequality 2x2+9x+10>0
(x10)(2x+5)2 O
. L= ol
SQ cﬂ-’*lcb.i Pom-‘sw“ xzﬁzyL
\/
X <-2:5 o X 7=

(4)
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20. The circle C has equation x2 + y2 = 4

The circle is reflected in the line y = 2 to give circle D

Circle D is translated by the vector ( 0

) to give circle E

(a) Draw a sketch of circle E

C sy @tre (0,0) rudugs 2 Y

N has @nbno (01 4) 1rduy AR Fd \\\

£ hoabe (-4) mdw & [ g 1
\_

(2

(b) Write down the coordinates of the centre of circle E

(c) Write down the coordinates of points where circle E meets the y-axis
_ a & _
egvm Ty (x-H) 4((4 '4) = 4

x=0 |9‘4((d-4)z= 3
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